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4. Students are designing an experiment to compare the productivity of two varieties of dwarf fruit trees. The site
for the experiment is a field that is bordered by a densely forested area on the west (left) side. The field has been
divided into eight plots of approximately the same area. The students have decided that the test plots should be
blocked. Four trees, two of each of the two varieties, will be assigned at random to the four plots within each
block, with one tree planted in each plot.

The two blocking schemes shown below are under consideration. For each scheme, one block is indicated by the
white region and the other block is indicated by the gray region in the figures.
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(b) Even though the students have decided to block, they must randomly assign the varieties of trees to the
plots within each block. What is the purpose of this randomization in the context of this experiment?
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plots within each block. What is the purpose of this randomization in the context of this experiment?

T prvpose o0& rIvdvuization 5 h engwe Fhoot
Gwz 'K\ng X \/&/U\QJ'RG\ oF KU ee TS nOXT
, S\SW'\\LMKO Lovved. "Mﬁ} st iy a conto
daCidl. (MIGA Veithn OF et Wi ke on Tl
v\oﬂ\/\m(’%bbk:b ourdl LGN U Lo on R
Sovmsthe (BloteZ) N wvBae Aak e srpust

1S w\\ms(dl



	2001 AP Statistics Student Samples
	Question 4
	Sample 1 - Score 4
	Sample 2 - Score 4
	Sample 3 - Score 3


